Svoje práce si ještě zkontroluje, posílám správné řešení všech úkolů. Máte to jak ve Wordu, tak v PDF, to pro ty, kteří mají problém Word otevřít.
Řešení:


[bookmark: _MON_1649869629]                    
Tento týden budete opět pracovat s učebnicí a pracovním sešitem.
První úkol: povinný !!!
 Nejdříve si přečtete článek : The story of Jeans, uč. p.12. 
Pokud narazíte na slovíčka, která neznáte, najděte je ve slovíčkách nebo na netu a vypište si je do slovníčků. 
Questions:  1. What is this article about?
	       2. Who invented this item?
	       3. Who first produced it?           Odpovědi prosím pošlete
Druhý úkol: povinný!!
V prac. sešitě : page 8 ex. 3  - opět prosím poslat (1f, 2a........)
Bonusový úkol pro jedničkáře a dvojkaře:
Firstly write about things you used to do when you were younger, and then write about past (what did you do, where were you last week) and your plans for this week. What are you going to do? Are you going to watch a movie/do some sport/play a musical instrument/read a book/learn English/go for a walk…… ? (min. 6 sentences) send it to me and please write neatly (úhledně)

Listening – dobrovolný úkol (vyzkoušejte první dva poslechy, po rozkliknutí jsou pod nahrávkou dva fialové rámečky – rozkliknout a udělat cvičení, další je pod rámečky – worksheets and downloads)
https://learnenglishteens.britishcouncil.org/skills/listening/elementary-a2-listening

Ještě něco navíc:
Too x enough
https://www.youtube.com/watch?v=L7ID8ekAogM
https://www.youtube.com/watch?v=8WPXDuqfcFo
Used to
https://www.youtube.com/watch?v=pXwG5AJdIBI
[bookmark: _GoBack]https://www.youtube.com/watch?v=CpLwQBExDPo
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a) Ta kniha je příliš obtížná. – The book is too difficult.

b) Ten pes není dost rychlý. – The dog is not fast enough.

c) Ta želva je příliš pomalá. – The turtle is too slow.	

d) Ona není dost vysoká. – She is not tall enough.

e) Ty kalhoty jsou příliš těsné. – The trousers are too tight.

f) Ten obrázek není dost hezký. – The picture is not nice enough.



      EXAMPLE: The book is too small. → The book isn't big enough.

1. The plane is too slow. → The plane is not fast enough.

2. The shop isn't cheap enough. → The shop is too expensive.

3. My hair is too short. → My hair is not long enough.

4. The weather isn't nice enough. → The weather is too bad.



Nemívala jsem dlouhé vlasy. I didn′t used to have long hair.

Můj otec kouřil, ale minulý rok přestal. My father used to smoke, but he stopped last year.

Nikdy jsme nejezdili na dovolenou do zahraničí. We never used to go on holiday abroad. 

Kde jsi bydlel, když jsi byl dítě?   Where did you use  to live when you were a kid?

Nejezdívali jsme na hory. We didn't used to go to the mountains.

Bydleli jsme v malé vesnici, ale teď bydlíme v Praze. We used to live in a small village, but now we live in Prague.



Učebnice: p. 10/ex.1							 p. 11/ex.4

1) They are talking to Jack Snoop	2. She didn´t use to share …     6. Yes, she used to have yellow.

2) Yes, they do				3. She didn´t use to wear	   7. She didn´t use to put …..

3) No, they don´t				4. Yes, she use to leave

4) He built a wall to separate them.	5.



Workbook page 9/ex.4

3. The trousers are too tight. 		 6. Emma is to slow.

4. The jacket is too expensive.	7. The sleeves are too short.

5. The door isn´t wide enough.	8. The boy isn´t tall enough.	

					9. The envelope isn´t big enough.
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a) Ta kniha je pfili§ obtizna. — The book is too difficult.

b) Ten pes neni dost rychly. — The dog is not fast enough.
c) Ta zelva je piili§ pomala. — The turtle is too slow.

d) Ona neni dost vysoka. — She is not tall enough.

e) Ty kalhoty jsou pfili$ tésné. — The trousers are too tight.

f) Ten obrazek neni dost hezky. — The picture is not nice enough.

EXAMPLE: The book is too small. — The book isn't big enough.
1. The plane is too slow. — The plane is not fast enough.
2. The shop isn't cheap enough. — The shop is too expensive.
3. My hair is too short. — My hair is not long enough.

4. The weather isn't nice enough. — The weather is too bad.

Nemivala jsem dlouhé vlasy. I didn’t used to have long hair.

Muyj otec koufil, ale minuly rok ptestal. My father used to smoke, but he stopped last year.
Nikdy jsme nejezdili na dovolenou do zahrani¢i. We never used to go on holiday abroad.
Kde jsi bydlel, kdyZ jsi byl dit€? Where did you use to live when you were a kid?
Nejezdivali jsme na hory. We didn't used to go to the mountains.

Bydleli jsme v malé vesnici, ale ted’ bydlime v Praze. We used to live in a small village, but now we live in
Prague.

Uéebnice: p. 10/ex.1 p. 11/ex.4
1) They are talking to Jack Snoop 2. She didn’t use to share ... 6. Yes, she used to have yellow.
2) Yes, they do 3. She didn’t use to wear 7. She didn’t use to put .....
3) No, they don’t 4. Yes, she use to leave
4) He built a wall to separate them. 5.
Workbook page 9/ex.4
3. The trousers are too tight. 6. Emma is to slow.
4. The jacket is too expensive. 7. The sleeves are too short.
5. The door isn’t wide enough. 8. The boy isn’t tall enough.

9. The envelope isn’t big enough.






